CL@SIC

Carolina Classics

Assembly Instructions
ltem# L33303V

Thank you for purchasing a Carolina Classic company product.This product has been designed
for easy assembly and is co nstructed for durability.Please take the time to read and follow the assembly

instructions carefully.If a part or hardware is missing or you have any difficulties in assembling this product,
please contact Customer Service at support@carolinachairandtable.com or call us Toll-Free at 1-800-228-3876.

Page 1 of 4




PARTS LIST AND ASSEMBLY STEPS

PARTS LIST
PBoit-25/16"x4"-6pcs| B  Nut-pcs (© Bolt-@1/4"x1-1/4"-8pcs | ©) Screw-16pcs
OO @@ Q) erse(
() Flat Washer-@5/16"X22-6pcs () Flat Washer- @1/4"x1 9-8pcs
@ Legs-4pcs #H Middle Foot-1pc (D Allen Key-1pc @ Spanner-1pc

ATTENTION:PILLOW AND ARMREST/HARDWARE/LEGS/MIDDLE FOOT/
PILLOW ON THE BOTTOM OF THE SOFA!
Armrest/Hardware/Legs/

Middle Foot/Pillow

Page 2 of 4




Page 3 of 4




Page 4 of 4




